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IMPORTANT:— Read the following instructions carefully. Do not mark answers on the question
booklet, otherwise you may be debarred from the selection process.

1.

Before commencing to answer, check that the Question Booklet has 120 questions. Each Question Booklet will be
in different series (combination of booklet code no. and seres). You must write comect Booklet Code No. and
Question Booklet Series on your OMR Answer Shest. Further check that there is no misprinting, overprinting
andior any other shortcoming in it. If there is any shortcoming in the question booklet, intimate the same 1o your
room invigilator and take a fresh guestion booklet No complaint in this regard shall be entertained at any later
stage.

IMPORTAMNT NOTE: The OMR Answer Sheet will be evaluated with a8 combination of question booklet series
and booklet code no. hence you must wnte correct question booklet series and booklet code no. Any mistake in
filling any of them will lead to invalidation of your OMR Answer Sheet. Also in case of non filling of quesion booklet
seres and booklet code no. the OMR Answer Shest will not be evaluated and its sole responsibility lies on the
candidate.

2 There shall be negative marking. 1/3 mark will be deducted for wrong answer. Each question carries equal
mark. Also refer OMR Sheet for detailed instruction.

3 Ask invigilator to sign on youwr admit card. If the same is not got signed by you, your candidature shall be
liable to be rejected.

4. This is an objective type test in which each objective guestion is followed by four responses serialled (1) to (4)
Your task is io choose the cormect/best response and mark your response in the OMR Answer Sheet only as per
the instructions given and NOT in the Question Booklet

L Use Blue/Black Ball Point Pen for all your work on the OMR Answer Sheet The ovals on the OMR Answer Sheet are
to be completely filled by Blue/Black Ball Point Pen only. ANSWERS ONCE GIVEM CAN NOT BE CHANGED.

i DO NOT scribble or do rough work or make any stray marks on the Answer Sheet. DO NOT wrinkle or fold
or staple it.

T. Use of Calculators, Shde rules, Mobiles, calculator walches or any such devices and any other studyireference
material is MOT allowed inside the examination hall.

b Rough Work is to be done in the blank space provided in the Question Booklet. not on the OMR Answer Sheet
Mo other paper will be allowed/provided for rough work.

o Retumn the complete Quesbon Booklet and OMR Answer Sheet to the invigilator on completion of the test Do not
take this Question Booklet or any part thereof or OMR Answer Sheet outside the examination room. Doing so is a
punishable offence.

10. | Teke care that you mark only one answer for each question. If more than one answer is given by you for any

question, the same will not be evaluated. Cuttingloverwriting the answers are not allowed. Further gquestion
paper is bilingual (HindifEnglish). In case of any variation in Hindi version, English version will be taken as
final for evaluation purposes.
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APTITUDE

To mark 8007 anniversary of Magna Carta (1215), four
surviving copies of the world most important
documents of parliamentary democracy were recently
brought together as a part of celebrations in:

1} WWashington (2] Delhi
_ {4} Kathmandu

The so called “bad™ cholesterol in the serum is:
1} HOL (2) WLDL

h {4} Al of these

The foremost cause of blindness in India, according to
official data is:

{1} Glaucoma

{2} Diabstic Retiropathy

(4} Refractive ermor

Recently which ministry has launched two schemes
namely—venture capital fund for 5.C. and Green
business scheme:

1} Ministry of Finance

{3} Ministry of Commerce & Industry

(2} Ministry of Minority affairs

One of the pioneering robots, that went missing into
space almost a decade ago, has been recently found
on the surface of red planet. Name it:

(1) Beagle 2

{2} Mars—2 Prop-M. Rover
{3} Mars Rover

(4} Spirit (MER-A])

Who among the following were well known for their

study on poverty in India:

{1} V.M. Dandekar 21 Meal Kanth

{3} Raghuram Rajan

Who was appointed the first chief executive officer of
Mational Institution for transforming India:

{1} Arvind Panagariya

2} Bibak Deb

(4} M= Saraswathi Menon
Panchsheel agreement was signed between:
{1} India & Bangladesh

{3} India & Pakistan
{4} India & America

International Monetary Fund is headquartered at:
{2} Mew York

(3} Geneva
(4} Pars

o [A-1]

1.
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(1) Beagle 2

{2) Mars—2 Prop—M. Rover
{3) Mars Rover

{4) Spint (MER-A)
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SEToZF [BB0182)



12

13

14.

15

16.

1iT.

Contour lines on a map join places of:
{1} Equal mean atmospheric pressure
{2} Equal average temperature

{3} Eiual rainfall

A writ, which is in the nature of command issued by
the court asking a public authority to perform a public
duty which it is bound to perform or to refrain from
performing a particular act which it should not
perform, is called:

i1 i Certioran

The capillary action phenomenon of water climbing up
a narrow tube dipped in water is due to:

i1r Surface friction

{3} Atmospheric pressure
(4} Differential termperature

(2) Hebeas corpus
{4) Cuo warranko

The Present strength of Rajya Sabha members is ......
out of which ... are representatives of states and
union territories of Delhi and Puducherry and ... are
nominated by president:

(2) 250, 238, 12
(3} 247, 235,12 (4) 248, 236, 12

As per the constitution of India, the state legislature

shall consist of:

{1} Gowernor, Legisiatve Council, Legslative Assambly

{2} Governor, Legislative Assembly where there is no
legisiative council

{3} Chief Minister, Governor,

Lﬁislaﬂi'.we assembly

Garuda-V concluded recently, is a joint exercise
between the air forces of India and:

iEi Canada

20 men can finish & work in 30 days. On completion of
10 days. 10 men leave work. Remaining men work for
next 10 days. At the end of 20 days it is decided to
complete the work in remaining 10 days. How many
extra men are required:

(3) 15

Legislative Counci,

{1} Japan
{3} Russia

{2) 25

{4 10

A machinist by increasing his normal rate of work by
1!%11. could produce 15 ftems more, in a given pericd
of time. How many items can he produce if he works at
80% of his normal rate:

{1} 100
{3) 80

(z) 90

10.

11

12

13,

14.

15

16.

17

oo [A-2]

arfie o7 e e fier vt o ikt
(1) WA AT T S

(2) 7 #mE T

(3) w

(4) 7= & % 39 o9 oA

o % gl v weh PR Aok & T oW B o B

i ewk

(1) e i

(2) 7w T

(3) T A

{4:I T ArEH

wm & e Al dew L B Bl ot
Bl vewft i oo qpEh & ofaiaiee o R aed @
T e ¥ . T OSER T R R R
(1) 245,233, 12 {2) 250,238, 12

(3) 247,235, 12 {4) 248,238, 12

ek S & arpE o - d e e b

4) = (1) T 2)

TeE-v, & w @ ¥ v g, v W A W oo e

e & Wer HEE A

(1) == 2} T

3) =8 (4} wH

N AU R RER
|, 10 = s ot =7 W kb T S =hE 4 10
Bt o e vt W 20 P o wnfy o o Prefy P omen
¥ 5w ww e oW 10 R 7 o few e PR
aifite s o s Bk

it 20 2) 25

3) 15 i4) 10

AW oo f o owiw AW w W e a
12 WA 15 g v Y w0 e b o o e
mtﬂinnwﬂmtirmmm
T i

{1) 100
{3 80

{2) 90
(#) 96

SEToZF [BB0182)



18.

1.

The average age of 10 students is 15 years. When 5
new students joined, the awerage age rose by one
year. The average age in years of the new students is:
(1) 18 i2) 18

{3 15 ) 17

In an examination a student scores 1 mark for each
comrect answer and 0.25 marks are deducted for each
wrong answers. If he attempts all 120 questions and
secures 90 marks, the number of guestions he
attempts comectly is:

1) 100 (2) 106
(4) Mone of these
The difference between - of 64 and 1 of 48 is equal
to:
(1) 24 2) 20
{3) 32

Two students appeared at an examination. One of
them secured 9 marks more than the other and his
marks was 58% of the sum of their marks. The marks
obtained by them are:

iH 34, 30

The cost price of 19 mangoes is equal to the selling
price of 16 mangoes. The gain percent is:

(2) 41,32
(4) 43,34

B
{1} 35
=

2} 1:;—9'i

i4) 20%

A hemispherical bowl of internal radius 9 em contains a
liquid. This liquid is to be filled into cylindrical shaped
small bottles of a diameter 3 cm and height 4 cm. How
many bottles will be needed to empty the bowl?

(1) 45 i2) 54

(3 35 i4) 48

Which of the following is the rate percent per annum
which would give difference in amount of interest
equal to T 20 for T 1200 in 3 years and for T BOO in 4
years?

{1} 25 (2) 3

3 & 4] Mone of thess

In a class, the ratio of boys to girls is 4:5. Half of the
boys and half of the girls participated in the youth
festival. ; , ie, 30 of the total student population

participated in the NCC camp. What is the number of
girl students in the class?
(@ 100

(1} 80
(3 120 (4] 150

18.

10.

21.

21

25.

oo [A-3]

10 Frefiflt o ol awg 15 v b om 5 T Prerd P
B ot ¥ & o &g 1 of & 5 o A Peffd w
i oy i # = A

(1) 18 2) 16

{3) 15 ) 17

w5 o # ox el ol o & B 1 ol oo B o
0.25 o% B o e o & P o omh B oft oy g
My FsR im0 At G e @
R Wl & oo ol

(1 100 {2) 106

(3) {4) 7 § o

sem S Araewm I Do R AT

(1) 24 (2} 20

3 » {4) 16

i o W 56% e oW mrn o fer st B
1) 30,30 (2) 41.32
3) 3233 (4) 43,34
10 ol & wre 16 @l & folt 50 & aoe ¥ A
wferar &: = =
(1) 3%%
2) :-:%1&
3 Iﬂ%-’i
(4) 2%
9 if. e P o oF i o d e B o
o e e R ol dhey Preem s 3 WL o
o 4 ¥ F owr o b ouR S Rt e R Rl
e At & S T
(1) 43 2} ™
2) 35 i4) 48
Pt dm o i b s A
1200 97 of 4 of & € 800 X € 20 ¥ owWW B U W
T FmE
1) 25 @23
3 3 i4) 57 & W

o5 w F opE @ wied = s 45 o ol o
amér wyfedt ¥ e oaer d e Bem % o P g
et o w30 ¥, & NCC Ay F e Rem owm
waiEEt o e o b
{1) 80
3 120

(2) 100
{4) 150
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Three wheels make 60, 36 and 24 revolutions per
minute. Each has a red spot on its rim, which is at the
lowest position at time zero. The red spot will all be at
this position again after:

{1} 2seconds

(3} 4 seconds {4} Mone of thesa

I 2 log. (x-2) = logx 4. then the value of x is:
1) 1 (2) 3
4] 2
Which of the following in the largest number?
‘2] 5I‘I
@ 2 @ 7

In a throw of two dice, the probability of getting a sum
of 8 or 11 is:

{1y 28 2
(3} S0

The triangle joining the points (2, T), (4, -1}, (-2, 6) is:

i1 } Eiuilﬁetd

{3} lsosceles
(4} Mone of thesa

7i8

DIRECTIONS: For answenng question, study diagram which is
represented as follows and select the appropriate choice.

E1 B

ABDE represents Artists

FGHI represents Scientists
JELM represents Administrators
OPON represents haalthy peopls

e 4 1
4

4
T

o ]
A iy

‘;;_a-i

Scientists who are also artists but in not good state of
health belong to the area:

(1) 4 25

(3 8 4) 10
DIRECTION: Select the suitable sltermative i satisfy the
redationship in the following queshion.
32, Buffalo : Leather : : Sheep:

(1} Wol {2) Cotton

{3} Fur 4] Silk

co [A—4]

26. i Wi 60, 36 of 24 W AifeE el ol @ P
T Tl AR AT R wh
T A g 6 FERr T E B e e
(1) 2 dFme (2) 5 U9
3) 4 & 4} T F
27. Wihg(v2=logsRNXxEmmEk
1 i2) 3
3 4 " 2
28 Prafufe § & St oot o ey §7
{1 3" 2) 5™
@ 2" 7 I
20, & it o ow B A S om D oo o 11 o B
wiftee el
(1) 28 (2) 7
{3 59 {4) & F T T
30, :fu. T), (4, 1), (-2, 6) % Pemt & o0 g B
(1) wmmg
{2) wrm
(3) welag
[4) w7 & T T
i P e ® 3 3 O A e W o e B
o 3 e g A
ABDE wefify 7 # et

FGHI wfitm =7m & fmire o
JKLM weii o & e o
OPQN 7y T0m § 7 = o

y,

M. Ym0 e B ¥ e e R, R B @
e ¥
n 4 (2) 5
@ o 4} 10
i Freiafem Wi & 7% e W A T O a8 e
= gFm
2. W WE
1) = i2Z) W
(3) = (4) twm
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DIRECTION: Salect the choice out of the given choices which Fiw: Friafas e 7u ol @ 53 0 fooedl & & i iy

gives the given words in the comect alphabetical order. F AR w o A A T e w g
33. Masal, New, Nine, Noble: 33. MNasal, New, Nine, Noble:
{1} Moble, New, Nasal, Nine {1) Noble, New, Nasal, Nina
2} Ninge, Noble, New, Nasal {2) Nine, Moble, New, Masal
{3) Masal, New, Nina, Noble
{2} Mew, Masal, Nane, Noble (4) New. Masal. Nine, Moble

34. Five students participated in an examination and each 34, o Efifd & o5 oim 4 o7 frn o wis & fw o
scored different marks. Maina scored higher than m’ihlhl:glﬂmﬂ“hm*
w9 5

Meena. Kamla scored lower than praveen but higher s =y % Atk e am = o
than Maina. Anuj's score was between Meena and dr ot v % dlE f @ Freiafem d @ S @
Maina. Which of the following pairs represents the e ey o Prwrs oy of b

highest and the lowest scores respectively? {1 A,

{1} Praween, Maina (2) %, wiE

{2} Maina, Praveen {3) wdm, A

i:]i Fraween, Anuj 4) wdm, S

INSTRUCTIONS: In this question 8 piece of paper s folded and then cut as shown below. The dotied lines shown ane the portion which
hawe been folded. The curve amow shows the direcions of folding. And the rumber of scissors beneath the figure show the member of
portions cut. From the given responses. indicate how it will appear when opened. The opening is in the same order as folding.

Tm: Frlai we § o 2 T08 W AT o o, A P i o e B feg v AR g e i o 6w
ﬁmmuﬁm&mt. %#ﬁ‘ﬂﬂﬂﬁw#ﬂym:ﬁmﬂr&mmmhﬁ&ﬂ‘ﬂrﬂmhmm%
F @ A ™ W d A R e & @ e A

35. Question figure (W SwgHY) Answer figure (T i)

i | e T W

H i T} : E:I—I

D L ] 00 Lol | 1299
3 3 i1 (2) (3 [4)

DIRECTIONS: At a public mesting thers were B speakers A, B, @w: 9 oaf= @ # A B,C, D.E.F, G, 7T H B =& &
C.D, E, F, Gand H. Each spoke for some time according io the  Frfsieg S & ﬂjﬂﬁ'ﬂﬁ!‘l TH -

following scheme— I A CF % wE @ A BT 8§ e geE
I. ‘A spoke after T and tock mors fime than ‘B L ' G’ # wE W AFE B R WS ol B R
IL °C spoke before "G’ and after B and fook less Gme T
thanE. . D' ‘H % =5 4 At B e W H A o
Ill. ‘D" spoke after 'H' and before "B and took less Gme B s ' | vy
than ‘H', but more time than ‘E'. V. H A ® wE S AT B A oo B

V. 'H =poke after ‘A" and took less me than B
36, W W S W A

36. Who spoke for the longest time?
{1 A 2 8
(1) A 2 B @ c 4 D
3 c {4 D
DIRECTION: Some words have been coded but no specific  FRm:
code is indicated. Use your judgement to pick the coded word ST 1= Flffe 1 &
which represents the given word the best. 7z 7 e o dem W

37. RECOMMEND:

i1i 154505247 . RECOMMEND:
(1) 154595247

{3) 227010281 (2) 156722543
{4) 566671281 (3 227010281
(4) 566671281

ca [A-5] SETIZF BE0132)



41.

42,

If BAT = 69 and BOOK = 172, then PEN = 7
{1} 68 (2) 108
{3) 144 i4) 183

In a certain code language ‘bring the white board” is
written as ‘ka na di pa’ and “White and black board’ is
written as ‘na di sa ra’. How is ‘the’ written in that
coda?

(2) pa

% ) =

i M+N means M is brother of N, MW/N means M is father
of N and MxMN means M is sister of N. Which of the
following means A is uncle of B?

{1} A/CxB

{2y CxB/A

iil- A+D/E/B

JE. LH, OL, 50,
(1) wv
(2) WX
{3) VW

‘B, the son of ‘A" was wedded to 'C’' where as ‘D" was
married to ‘E". If E is the brother of ‘B’, how is ‘D’
related to ‘A7

{1} Daughter-in-law

{2} Deughter

{3} Sister

{4} Cousin

Sonu starts from his home towards the South. After
walking for 80 m, he turns right and goes for 40 m. He
tumns right again and walks for 80 m before turning
left. He then walks for 30 m and reaches his school
How far is his school from his home and in which
direction?

{1} 10443 m, North East

izm 10913 m, Morth West

(4} Mone of thess

DIRECTIOMS: In the following number series only one number
is wrong. Find out the wrong number.

44,

45.

4 0, . 48,
1} 21

101

{3y 1M
{4} Mone of these

Pick the odd one out.

(1} Copper
{2} Tin

ii]i Zinc

cu [A—E]

41.

off BAT =69 9T BOOK =172, & PEN=1

(1) 66 {2) 105
3 184 {4) 153

feelt Pifiesr B w1 & ‘bring the white board® % ‘ka na
di pa* T ‘white and black board’ ¥ ‘na di sa ra’ By
wem B ot ‘the' B Tm oy & & Faem et

{f) ka
(3} kaorpa

(1) AICxB
{2) CxBIA
{3) A+DI/E/B
{4) A+GI/HxB
JE, LM, OL, 50,
{1 wv

Z) wx

{3 v

@) xw

B, W W Y P C’ § ew gan ¥ mfs D' W
P B A g WEBWWES D WA R
v whiw &P

n

(1) 1043 A, Fe-gd
Z) 113 &, T
(3) 10453 &, Fe-afi
4) T & T T4

Fitm: Pt den Sw 7 o dem 9 8 e e W
T

44,

45

4, 0, 2, 49, 11
n 2

2) 48

@ 101

4) =7 & o

Pl & & o & ofm
(1) a}u
2} ==
(3) =
4) i
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4T,

51.

TECHNICAL APTITUDE

The slab is designed as one-way if the ratio of long 46. U5 W & ©% Wiy afteshor fem o ¥ ot st W

span to short span is:

{1} Less than 1
{2} Between 1and 1.5

i:]i Between 1.5 and 2

Which of the following walues of pH represents a
stronger acid?

3 7

(2) 5
4) 10

Consider the following statements:

A: The load factor for live load is greater than the
dead load

R: The live loads are more uncertain than the dead
loads

Of these statements:

{1} Both A and R are true and R is the comect axplanation
of &

F

{3} Ais true but R is false
(4} Ais false but R is true

The shear-force and bending moment are always
positive in case of:

{1} Cantilevers

{2} Simply supported beams

iii CI'.'EW' beams

A short column 20emx2lcm in section is reinforced
with 4 bars whose area of cross section is 20 sgq. cm. If
permissible compressive stresses in concrete and
steal are 40 kgicm® and 1300 kgicm®, the safe load on
the column, should not exceed:

{1} 412 kg

(2) 4120

{4} 412.000 kg

A solid circular shaft is subjected to a bending
moment M and torque T. The ratio of maximum
bending stress to the maximum shear stress is given
by:

i1r MTi2

{3) 2T
(4} MT

The flow index in soils indicates:
{2} Rate of flow of water through the sail

{3} Variabon of liquid lmit
(4} Ratio of the bouid limit to the plastc Bmit

4T.

40,

51.

o [A-T]

et o B sy o B
NREE .

(2) 1315 % 9=

3 15 d7 2% =

4) 23 =y

Frfifie & & S9-m pH 77 W At o w eRiRie
o

1) 2 2) 5
a7 {4) 10

. Pl i o e ot
A: ot e g AT TS W AT von g B
R: i % 9@ W e s e A
™ T
(1) AufR SR

a4
{2) AR E 59

3 AT # R
4) AT § A R

e 4 O e S ot e e ¥ e o i
(1) #Ereir

(1) 412 P

[2) 4120 Frfm
3) 41,200 PFesimme
4) 412, 000 P

3 TR 9w . M T & e
hi‘rmmm?mﬁﬂmwim
sy Pewd Ero e s

1) M2

2} 23T

3 MmeT

4) MT

o & wame e T b

(1) 7 Higg e e

2) 79 % = § 59 e W

3) =1 9 6 fEfew

(4) =wieT @ g A = A W e
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Sugar when added to cement will act as:

i1r An accelerator

{3} A workability admixture
(4} An air entrainang agent

Under water concreting is done by:
1} Dripping method

{3} Cofferdam method
(4} All of the above

If in a given soil. mass void ratio is 0.67, water content
is 0188 and specific gravity is 2.68, the degree of
saturation of the sails is:

(1) 25% {2) 40%
(3) 60%

Which bacteria is used to conwert ammonia to nitrite?
{1} Coliphage

{3} Nitrobacter (4] E Coli

De-chlorination of water is achieved by adding:

{2} Sodiumn suiphate

{3} Sodium haxamataphosphats

{4} Sodiumn bisulphate

Curing period required is minimum for the concrate
using:

{1} Ordinary Porfiand cement

2} Portland cemant

(4} Low heat Portland Cement

When the strain in 8 material increases with time under
sustained constant stress, the phenomenon is known
as:

{1} Strain hardening

2) 1eresis

{4} Visco-elasticity

Softening point of bitumen to be used for road
construction at a place where maximum temperature is
40 degreeCelsius should be:

{1} Less than 40 degree
2} Equal to 40 degree

(4} Equal to BO degree

The deflection at the free end of a cantilever of
rectangular cross-section due to certain loading is
0.Bem. H the depth of the section is doubled keeping
the width same, then the deflection at the free end of
the beam due to the same loading will be:

{1} 0.1cm (2) D4cm

(3} 0.Bcm (4) 1.68cm

53

5T.

61.

co [A—8]

e Wit s s bk
(1) o= afty & aw

(2) T® 7T W T

(3) o W g S

(4) T 7 #en W H A

e e e 8 R ar o ol b

(1) B owfiy

(2) i waly

(3) T A vl

(4) v wit

Pt wf o #, werw P ongw ¥ 0.67, w oft A b
0.188, mey Pfiee T k268 & wo o o it
(1) 25% (2) 20%

{3) 6% {4) 75%

it % e w7 S W e e
(1) i (2)

(3) g e {4) g~
Pt P st e e &

(1) wiftwn AR

(2) wiftw= weEe

(2} wifeT T

4) AT AgEET
ﬁnuhﬂwﬂmm%hﬂiHMW

Fom w0 st w40 Tl AR ¥, o ame
P & Ry oy Fag 0 o g b

& He He e

Tl ok or e O ol ¥ O b o @ e # W
& e 9 v AR BT

(1) 01cm i2) 04 cm

{3) DBcm {4} 1.6cm

SEToZF [BB0182)



6T,

T

Bleeding can be reduced by:
{1} Addition of pozzolanas
{2} Addition of aluminum powder

{3} Inn'aa-s'ﬁ the fineness of the cemant

Pick up the incorrect statement:

{1} Centering and orentation are nterrelated in a8 plana
table survey

(2} Ex=act centering of plane table is essential for a large
sCale ma

(4} Plane table survey is most suited for filling in details if
the country is open with good inter visibility
A critical activity has:

iH Maxirmum float

The property of a soil which is of great importance in
finding settlement of structures, is:

i1r Farmaal:liﬂ {2} Shear strength

{4) Compressibility
The pressure measured with the help of a piezometer
tube is in:

(2] Nim®

% {4) Niom?

Stretcher bond is possible only in:

{2} Minimum float
(4) Average float

{2} One brick wall

{3} One & half brick wall

(4} Wall of any thickness

Orifice meter is used to measure:

{2) Average velocity

{3} Max velocity {4} Pressure gt a point
15:1408 — 1978 relates to:

_ (2) Building measuremeant
{3} Concrete (4] Cement

Longitudinal stress is expressed as:

{1} Pdit ﬁ Pu/zt

{3) Pdiat

Rise and fall methad is used to measure:

{1} Horizontal angle
2) Vartical

(4} Length

In Water Bound Macadam (WBM) roads, binding
material used is:

{1} Sand

{3} Cement (4) Brick dust
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T4.

Th

1.

In setting up a plane table at any station:

iH Lavaliﬁ is done first

{3} Leweling and centering is done simultaneously
{4} Orientation is done first

Centre of the road is elevated with respect to edges.
What is this:

{1} Super elevabon

(3} Height of paverment {4) Mone of thesa

The sewerage system originates from:

(1} House Sewers 2) Lateral Sewers

{3} Branch Sawers {4) Main Sawers

Los Angeles machine is used to test the aggregates
far:

iﬂ- Crushini w

The modulus of elasticity of steel is assumed to be:

i2) 225 KNimm®
(4] 275 KN/mm®

{2} Impact valus
{4} ¥Water absorption

{3) 250 KNimm*

The radius of gyratien of a section of area "A’' and least
moment of inertia ‘' about the centroidal axis is:

A
(4 @ %

L3
A
- +
]

# 7
The B.M. of a cantilever beam at A shown in the figure
is:

2T
4T.m

3B
——— |
2Zm Zm

{1} Zem 2) 8Tm

{3) 10Tm 4) 16Tm

A simply supported beam of span L carries a uniformly
distributed load W. The maximum bending moment is:

T o %
2

{1}

WL WL
&y T

If Z & 1 are section modulus and moment of inertia, the
shear force F at a section is:

My

1} i

M
@ 7

i4) IMdx
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. The B.5. on a Bench Mark of R.L. 400 m. is 2.685 m. If

. The ratio of the reactions R, & Ry of a simply B2

supported beam shown below is:
5t

]

2tm 3t

'\f'l'ﬁ'!WPL
|

B
T2m

f
X 2mT 2m T 2m

(1) 0.50

{2} 040

{3y 0.67

TB

B3.
F.5. on & paint is 1.345, the R.L. of this point is:

1} 402685 m. (2) 401.345m.
(4] 404.03m,

. The imaginary line passing through the intersection of B4.

cross hairs and the optical centre of the objective is
known as:

1} Line of sight

(3} Axis of telescope
{4} Mone of these

. The brick laid with its length parallel to the face of a B5.
wall is known as:
(1) Header (2) Stretcher
{3} Closer {4) Mone of thesa
Seasoning of timbser is: BG.
(1} A process of removing sap
{2} Creosofing
{3} Painting with sodium sficate
(4} Coating with tar
. The slenderness ratio of a steel member is: BT.

{1} Length/minimum side dimension
2} Effactive length fradius of fon

(4) Effective lengthleast radinss of gyration

Spacing of main bars in an R.C.C. slab shall not BB
excead:

{2} 3 times the overall depth
{3} 30 times the diamater of main bar

{4} 30cm
. Bending moment at a section is maximum where the BO.
shear force is:
{1) Zem {2) Maximum
{3} Minimum (4) Changes sign
. Ratio of linear stress to linear strain is called: o0

{1} Modulus of rigidity

(3} Bulk moduhss {4} Poisson's ratio
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Hook's law holds good upto:

i1 b Yield ﬁ

{3} Plastc limit
(4} Breaking point

Unit of work in 5.1. units is:

{1} Mewton izi Ei

{3} Kgm
The process of mixing water with quick lime is called:
{1} Calcinaion of lime

:Ei Curiﬁ of lime

{4) Cooling of lime

Rocks formed by solidification of molten magma are:
1} Sedimentary rocks

{3} Melamorphic rocks
(4} Mone of thesse

In a plate girder, the shear force in the girder at any
section is taken up by:

{1} The web only

iZi The ﬂanﬁ -:lnli

(4} The while section

The slump test helps in the determination of the
following quality of concrete:

{1} Strength 2) Setement

{3} Shrinkage

The arches support the loads mainly by:

{1} Axial fension

{3} Shear (4} Bending

The slope is the deformation corresponding te:
{1} Axial force

(3} Horizontal reaction {4} Shear force

The minimum width of the riveted section should be:
{1} 24 (2] 254

(3} 34

where ¢ = Diameter of rivet
t, = Diamater of rivet hole

If the soil at the shallow depth is not having good
strength, the only alternative is tha:

iﬂ- Pile foundation

{3} Isolated colemn fooking
{4} ¥Well foundation
A U-tube manometer measures difference in:

{4} Velocity head

{1} Total energy
{3} Piezometnc head
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103.

104,

107.

The diffusion is more vigorous when the flow is:
{1} Laminar

{3} Supercritical 4] Critical

The method of traversing in survey is:

{1 i Measurement of all the anilea uﬂli

{3} Measurement of all distances
{4} Measurement of all bearings only.

The plinth area of building include:
{1} The area of barsati and mumty

{2} Area of loft
{3} Cantilevered porch

The abrasion test on aggregates is camied out to
determine its:
{1} Hardness

{3} Durability {4} Sofiness

The soundness of Portland cement is tested by:
{2} Vicals needla

{3} Sieve analysis
(4} Specific surface analysis

A first class brick immersed in water for 24 hours,
should not absorb water [by weight) more than:

1) 10% (2} 15%
- i) 25%
Eutriphication of lakes is due to:

{2} Excess hard ion in water
{3} Excess turbidity in water
(4} Excess iodine in waber

Tintometer is used to measure:

{1} Hardnness 2} Odour
{3} Temperature

Which of the following pairs is not correctly matched:

A Path lines: Direction of motion of a8 parice between
ftwi given sactions

B. Stream lines: Direcbons of motion of a particle at that
instant

C. Streak lines: Lines formed by particles ejected from a
nozzle

D. Potential lines: Lines joining the points of equal

ential on adjacent flow line
im i2) B

{3 C 4] D
Compaction of a soil is measured in terms of:
(1) Dry density {2) specific gravity

{3} Compressibility {4) Permeability
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112. The law used in permeability test is

113

114

115.

17,

{2) Pascal's law
(4] MNewton's law

iH Stoke's law

The water content in the soil is:

{1} Ratio of volume of water o volume of sod
{2} Ratio of volume of water 1o volume of sofids

iib Ratio I:If'l'l'Eliihl of water to volume of soil

Thie maximum compressive stress in a cantilever beam
with a downwand concentrated load at the free end is
caused at:

{1} Top fibre at mid span

izi Bothom fibre at mid EuiEII'I

(4} Top fibre at the support

The shear force in a beam (V) and the displacement [v)
are related by:
'
@3 ves™Y {4) Mot related to sach other
dx

Where El = Flexural rigadity

The shear force on a beam is proportional to:

{1} Curvabure of the axis
{2} Displacement of the axis

i:]r Sum of the forcas

The setting of Portland cement may be defined as:

i1 i Sartini of heat of hﬁmﬁm in cament ﬁh

{3} Gain of strength of cement paste
(4} MNone of thess

Gypsum is added in cement manufacturing for the
property of:
{1} Cemenfing

iEi Sallini

{4) Heat of hydration

The following soil is good for making bricks:

{4} Clay which is 1 metre below grownd level
Piezometirc head is the sum of:
1} “elocty head and re head

{3} Datum head and vebocity head
(4} Velocity head. pressure head & datum head
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1180

120.
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